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4- Indices

p2
(c) Simplify (2n3y*
2. (a) Simplify m® x m’

)  Simplify x°

.......................................................

3. (a) Simplify m” + m

Simplify 5x%/° x xZy

ey
or
s
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4,(a) Simplify ' »d°
45¢° f*
Sef *

(b} Simpilify

.........................................

5. (a) Simplify m’xm*

R Rl T R N T T R A S

(b) Simplify ¥ *¥’

........................................

(c) Simplify 'y

8. Simplify fully

@ pxp
(%)) 3 g 4 b ,2(1? §
g 3
© @y
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7 . S:m;;%gfy ;5}:6 = 3}»‘2
b. Simplify T x 3w

.................................

g8 Work out the value of

@ @

SAmnyeNsdsestresee b anrssnane

(b) 472

©) V2 %9

9 Write down the value of

o6
@ -
x

..................................

) o
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10 Circle the expression that can be written as 2y 2

(2y) 2 2X2xy 2X Y Xy 2X2xyxy

11, Px7=73x7k

Find the value of £.
k= a0
5 4
‘ ’ g Xq xXg R
12. Simplify "‘”"“;{"""' .................................
13 Find the Value' of 3%}_3 et s

14. Work out

a)  dy°

......................

B @7

7% %73
7

c)
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15, 7P x 702 =75 x 7]

Find the velue of m

16, Work outthe values of mand n

58 x 5% = 5™

17. Which of these can be writien as 162257

Circle all the possible answers.

2xB8xaxaxb 2xaxagt8xp
Fxaxoxa={2xaxh) Wxaxaxa={2xayxb

18. Write as a single fraction in iis simplestform (Sxgxgxg+8xhxh)

19. Here is an eguation. = B4

Give four different pairs of values that satisfy this equation.

= I e
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20.Write:
a}4 as a power of 2

b)S x 33 as a power of 3

c)2°% % 45 as a power of 2

d)16 % 26 as a power of 2

)5 x 25 x 125 as apower of 5

21. Work out the values of ¢ and d,

(2% D% = 224y

ANSWET!  GoFum e s oo d
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.



24. Lisa says,

53 is equal to 15

Is she correct? explain your answer

25. Tick (v') the expression that is closest to the square root of Sae

1.58°

1.58°

1.78°

3a°
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